M- HERAARSELAER (FAY)

TiEC Fip -4 A T AR TR (BERED)

05 F 7 £ 10.2 54.2 335 2.1 (620)
05 F 8 %] 10.9 52.0 35.2 1.8 (667)
05 F 9 k| 8.2 57.4 33.2 1.2 (894)
05 & 10 k| 6.6 53.4 38.9 1.1 (877)
05 = 11 f] 10.2 50.6 38.2 1.0 (930)
05 F 12 k| 10.4 46.3 42.7 0.6 (847)
06 F 1 %] 9.7 48.6 41.2 0.5 (814)
06 & 2 £ 7.2 53.3 38.4 1.1 (803)
06 F 3 £] 6.9 53.4 39.3 0.5 (802)
06 & 4 k| 6.7 46.8 45.9 0.5 (773)
06 F 5 %] 7.8 49.1 42,5 0.6 (774)
06 F 6 %] 8.4 50.4 40.1 1.1 (813)
06 & 7 k| 11.5 52.4 35.4 0.7 (827)
06 F 8 %] 11.8 53.1 34.4 0.7 (857)
06 F 9 £ 9.8 52.1 37.3 0.7 (823)
06 F 10 k| 125 56.4 29.9 1.2 (802)
06 & 11 %] 14.0 56.5 28.3 1.2 (802)
06 & 12 k| 17.2 58.0 24.4 0.4 (779)
07 &F 1 %] 17.8 58.4 22.9 0.9 (803)
07 &F 2 %] 14.0 53.4 30.9 1.7 (819)
07 F 3 %] 11.9 51.1 36.1 1.0 (707)
07 F 4 £ 9.1 51.7 38.3 0.9 (773)
07 & 5 | 7.3 50.5 40.8 1.5 (731)
07 F 6 %] 8.1 47.3 43.3 1.3 (774)
07 &F 7 %] 9.4 49.0 40.4 1.1 (806)
07 & 8 %] 9.4 50.5 39.2 0.9 (784)
07 # 9 k| 13.2 50.6 35.3 0.9 (801)
07 & 10 %] 12.9 46.8 39.5 0.7 (711)
07 & 11 f] 11.2 51.8 36.0 1.0 (722)
07 F 12 k| 18.2 47.2 337 0.9 (822)
08 F 1 %] 14.4 57.5 27.2 0.8 (824)
08 & 2 k| 9.8 52.7 36.1 1.4 (806)
08 & 3 %] 8.2 50.5 40.2 1.1 (814)
08 & 4 k| 11.8 52.4 35.1 0.7 (821)
08 &F 5 £ 3.4 43.4 48.3 4.9 (1107)
08 F 6 %] 17.9 50.2 31.3 0.6 (831)
08 & 7 k| 21.7 48.9 28.5 0.9 (1024)
08 F 8 %] 22.7 51.3 25.0 1.0 (809)
08 &F 9 £ 27.0 50.4 21.3 1.3 (752)
08 F 10 k| 31.0 47.6 20.4 1.0 (825)
08 & 11 %] 29.2 52.7 17.3 0.8 (843)
08 iF 12 k| 36.6 47.0 15.5 0.9 (856)
09 # 1 k| 34.4 48.4 16.2 1.1 (823)



T S 1 Vs S O e 12 e 55 )

09 & 2 /| 33.1 50.9 14.3 18 (877)
09 &+ 3 £ 36.7 49.4 11.8 2.1 (840)
09 & 4 k| 32.3 54.6 12.0 1.0 (835)
09 & 5 £ 225 55.8 21.0 08 (920)
09 i 6 /| 24.9 52.0 22.4 0.7 (871)
09 & 7 £ 23.8 54.8 20.4 1.0 (815)
09 iF 8 £ 21.9 58.3 18.7 1.1 (834)
09 iF 9 £ 22.6 57.4 19.7 0.4 (793)
09 # 10 /| 315 495 18.6 03 (866)
09 & 11 *| 31.9 485 18.2 14 (786)
09 & 12 F| 30.1 52.1 16.6 1.2 (731)
10 5 1 %] 34.6 47.2 17.7 05 (775)
10 5 2 | 28.1 51.1 20.3 05 (752)
10 & 3 | 26.1 54.8 18.6 05 (767)
10 7 4 ] 28.4 52.4 18.1 11 (783)
10 7 5 | 33.1 45.8 19.9 13 (720)
10 F 6 | 34.8 40.6 23.6 1.1 (853)
10 5 7 ] 30.0 46.8 22.1 1.1 (894)
10 & 8 ] 18.6 48.3 32.7 0.4 (725)
10 9 | 17.8 48.8 32.9 05 (770)
10 % 10 | 24.1 49.1 26.2 0.7 (760)
10 # 11 %] 25.2 49.2 24.3 13 (774)
10 & 12 /] 25.7 50.8 22.7 08 (731)
115 1 %] 27.2 53.7 18.1 1.0 (812)
115 2 F] 36.7 46.9 15.8 0.6 (926)
11 & 3 £] 34.9 47.2 17.2 0.7 (820)

THIRE = SRR R R R B P IA 2

GECHEE K R A R s (250 40) *

AR (A5
05 & 7 k] 70.2 (607)
05 % 8 | 68.4 (664)
05 9 | 67.8 (876)
05 & 10 /| 68.7 (869)
05 # 11 %] 67.4 (912)
05 & 12 F| 67.1 (831)
06 & 1 %] 68.8 (802)
06 & 2 %] 67.1 (796)
06 % 3 k] 67.8 (793)
06 & 4 ] 68.9 (766)
06 i 5 | 68.4 (769)



ERES (D)
06 6 %] 67.1 (807)
06 # 7 %] 66.4 (812)
06 7 8 | 65.9 (852)
06 & 9 k] 66.6 (815)
06 & 10 | 62.8 (783)
06 & 11 /| 63.6 (788)
06 & 12 F| 61.4 (768)
07 # 1% 61.1 (790)
07 & 2 £ 66.7 (802)
07 # 3 %] 68.5 (699)
07 # 4 7] 66.3 (766)
07 & 5 £ 67.2 (727)
07 # 6 %] 68.6 (769)
07 & 7 %] 66.7 (804)
07 & 8 £ 67.5 (776)
07 # 9 ] 64.2 (789)
07 # 10 /| 62.7 (705)
07 # 11 %] 63.9 (718)
07 # 12 5| 61.1 (810)
08 & 1 %] 60.9 (812)
08 & 2 k] 65.3 (799)
08 & 3 £ 63.8 (806)
08 & 4 k] 63.7 (815)
08 # 5 ] 65.6 (1088)
08 & 6 %] 59.2 (819)
08 & 7 £ 57.4 (1014)
08 # 8 ] 56.0 (799)
08 i 9 £ 53.4 (744)
08 # 10 | 51.6 (815)
08 # 11 /| 515 (834)
08 & 12 f| 50.7 (843)
09 # 1% 51.6 (812)
09 & 2 £| 51.4 (858)
09 # 3 %] 50.8 (823)
09 # 4 ] 51.8 (831)
09 # 5 k| 53.0 (918)
09 # 6 %] 53.5 (869)
09 & 7 %] 53.2 (807)
09 & 8 k] 53.1 (829)
09 # 9 ] 54.1 (786)
09 & 10 | 51.1 (861)



R (FAD)
09 & 11 ] 51.2 (781)
09 & 12 *] 51.6 (727)
10 1 5 50.1 (769)
10 & 2 7| 52.4 (745)
10 # 3 £ 51.5 (760)
10 & 4 7 50.6 (778)
10 & 5 f] 49.8 (717)
10 ¥ 6 7 49.6 (845)
10 # 7 7| 50.0 (887)
10 & 8 /| 54.8 (721)
10 ¥ 9 F 55.8 (768)
10 & 10 *| 53.7 (755)
10 # 11 ] 53.5 (770)
10 & 12 *| 52.7 (727)
117 1% 51.3 (804)
115 2 5] 48.6 (921)
F 3| 50.9 (813)

*ﬁ?'mﬁé@m I SARPRIFT 73 PO 1R 12803
TR < 25 q.:;r:* {ETRARIE T < 1) 0 07 BLR 507 % 100 53 L o7 - 50 53 5%
SRl 2 BRI RS

A Z D HZ PR AROEWTAS (L0 ) ¥

POSPIRIRGIR A MU e AR

ﬂzﬁ% 7 (Bt ED) %ﬁ‘ﬁ? (B4 80 %? 7 (Bt ED)
05 & 11 £] 62.2 (880) - - 66.0 (592)
05 F 12 %] 62.1 (788) -- -- 65.9 (556)
06 &+ 1 %] 64.2 (763) - - 67.3 (576)
06 &+ 2 F] 63.6 (772) - -- 65.4 (595)
06 &+ 3 7] 62.9 (765) -- -- 66.6 (594)
4 5] 64.4 (735) -- -- 67.7 (562)
06 & 5 k| 63.7 (742) - -- 66.5 (598)
06 &+ 6 %] 63.0 (777) - - 66.4 (638)
Fl 59.3 (783) -- -- 65.6 (665)
06 F 8 *] 57.6 (817) -- -- 64.3 (665)
06 &+ 9 £ 58.6 (772) - - 65.5 (596)
06 =+ 10 *| 55.7 (750) - - 62.4 (621)
06 F 11 | 57.6 (755) -- - 63.2 (613)
06 =+ 12 | 57.2 (751) - - 62.8 (620)
07 # 1 7] 58.2 (765) - -- 62.9 (624)
07 & 2 %] 60.6 (793) - - 63.5 (698)
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FHE (A0 PR (BAE)  RE

3% 65.3 (689) - - 65.9
4 F| 64.5 (743) - - 65.8
5k 66.5 (708) - - 67.1
6 % 67.9 (753) - - 69.1
7F| 64.7 (707) 60.1 (408) 67.8
8 k| 64.5 (682) 61.0 (431) 68.0
9 | 62.3 (739) 58.1 (551) 65.6
10 /| 62.2 (655) 59.0 (478) 66.2
11 5| 63.3 (648) 58.9 (550) 65.6
12 %] 58.8 (767) 55.7 (645) 63.1
1% 59.7 (777) 57.9 (631) 60.3
2 63.2 (767) 675 (778) 61.4
3% 62.2 (776) 65.0 (755) 61.0
4 62.9 (756) 63.0 (758) 62.6
5 | 63.6 (1036) 62.0 (968) 62.8
6 %] 58.9 (795) 59.2 (739) 61.6
7E| 57.0 (968) 575 (908) 59.2
8 F| 56.9 (761) 56.1 (724) 58.9
9 %] 54.5 (710) 535 (676) 58.0
10 £| 52.4 (774) 51.2 (771) 56.6
11 k| 52.2 (802) 50.5 (787) 56.7
12 F| 50.1 (813) 50.5 (797) 55.7
15| 52.0 (784) 52.9 (779) 57.1
2 k| 51.8 (822) 51.8 (824) 56.3
3% 51.0 (779) 49.3 (795) 55.9
4 F| 51.7 (791) 49.9 (801) 56.6
5k 53.7 (890) 53.6 (889) 59.4
6 % 54.5 (831) 53.8 (842) 57.9
7F| 55.5 (774) 53.1 (777) 58.6
8 k| 54.7 (796) 53.0 (794) 58.2
9 | 55.6 (756) 54.9 (757) 59.4
10 /| 55.3 (828) 56.8 (838) 59.4
11 5| 52.3 (763) 55.5 (752) 58.8
12 %] 52.0 (694) 54.9 (702) 58.6
1% 51.1 (742) 54.7 (748) 57.7
2 53.5 (691) 56.8 (739) 59.2
3% 525 (732) 55.0 (751) 58.6
4% 51.7 (759) 54.0 (754) 58.3
5 | 50.8 (689) 53.9 (692) 57.3
6 %] 49.4 (815) 52.2 (823) 56.4



R

HATSpil il =

HERlFI= I

EZ?E'P 2 (’I?JQYT?E‘V) Wap_rﬁ (ﬁi?@ s A G i 1Y)
10 # 7 7] 50.2 (857) 53.0 (858) 57.0 (795)
10 % 8 £ 55.7 (705) 56.2 (692) 58.1 (629)
105 9 Ff 56.0 (748) 55.3 (749) 58.1 (670)
10 & 10 £ 53.2 (721) 53.7 (726) 57.2 (664)
10 5 11 7] 52.9 (729) 5.3 (744) 58.2 (663)
10 5 12 ] 52.1 (700) 53.7 (705) 57.3 (630)
10 1 7] 49.4 (786) 52.4 (786) 56.3 (696)
115 27| 475 (885) 472 (921) 55.0 (740)
11 & 3 | 50.0 (779) 47.4 (801) 56.5 (677)
* Tl :%‘_E'ﬁ\f‘ SIS %TV&E% R BRI A 3 7] (53 pOdi iRl o3 Il
1.28 57 ~ -p1 13157 -1 116 55 »
P‘%Jfl il r%‘?[@f‘ 2007 5 6 Ff 1) i3 B R EL O A L LR O 5
FﬁJf&é PR fJ Jrf? ﬁ‘{ AL A PR :WEPF‘”
HIRE - © S fJ I PR AT - oy (RIERS 2501 2
IR TSP BRI ) Al g S 255 ?
A E B F s R ATy (Fes k) K
PR ) (B h 8
03 1% 46.9 (706)
03 i 7 %] 37.8 (821)
04 1 E] 43.7 (678)
04 i 7 £ 438 (682)
05 % 1 %] 45.5 (691)
05 & 7 £ 52.4 (569)
06 1 %] 56.4 (744)
06 2 k] 55.5 (716)
06 = 3 | 56.4 (731)
06 7 4 £ 56.2 (705)
06 % 5 7 57.0 (692)
06 = 6 | 56.0 (747)
06 & 7 %] 55.8 (758)
06 = 8 | 54.5 (794)
06 7 9 /| 54.3 (716)
06 & 10 %] 53.4 (715)
06 i 11 £ 54.1 (725)
06 & 12 £ 52.6 (704)
07 & 1% 53.8 (716)
07 & 4 £ 56.3 (715)
07 i 5 %] 58.3 (664)
07 = 6 F| 59.6 (724)
07 & 7 %] 59.3 (735)



ikl (B4 50)

07 8 7 59.4 (717)
07 9 7 54.8 (746)
07 # 10 #| 57.1 (655)
07 & 11 | 57.7 (672)
07 & 127 53.2 (740)
08 5 37 55.8 (722)
08 & 4 7] 56.0 (762)
08 % 5 7] 57.0 (937)
08 & 6 7 50.0 (745)
08 & 77 48.4 (923)
08 & 8 7 48.0 (712)
08 % 9 7] 47.2 (666)
08 & 10 7] 454 (741)
08 & 11 | 451 (765)
08 & 12 7] 425 (774)
09 17 432 (764)
09 & 2 7] 43.0 (784)
09 & 3 %] 414 (738)
09 & 4 7] 42.3 (754)
095 57 448 (845)
09 6 7 46.1 (809)
09 % 7 7] 453 (750)
09 & 8 7 44.2 (767)
095 97 46.8 (741)
09 # 10 £| 45 02)
09 5 11 £ 44.2 (727)
09 & 12 7] 45.0 (673)
10# 17 439 (712)
10# 27 462 (668)
10 37 44.9 (696)
10 % 4 %] 44.6 (705)
10 57 44.2 (647)
10# 67 445 (784)
105 77 44.0 (809)
10 8 7 48.1 (654)
10 97 47.9 (687)
10 & 10 7] 462 (687)
10 & 11 ] 463 (694)
10 # 12 7] 448 (663)
1F 17 445 (733)
n&F 2% 431 (843)
&35 449 (729)
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AT R RBRAREER (FAW)
TEE T tF BE TR EE (AW

09 & 11 £ 19.6 496 30.0 08 (786)
10 & 1 F] 25.4 44.6 28.9 1.0 (775)
10 # 5 £ 26.3 44.2 28.5 1.1 (720)
10 & 8 7| 14.0 471 38.0 1.0 (724)
10 & 11 ] 216 50.3 27.1 1.0 (774)
10 & 12 F| 22.0 475 28.9 16 (731)
11 & 1 %] 23.6 48.8 265 1.1 (812)
11 5 2 ] 26.7 49.6 23.1 0.6 (926)
11 # 3 £ 25.5 476 25.4 16 (820)
R PR T B

HhE AR Y el R (A )

TEE  FiR A (= TSR (AR

09 & 11 F| 16.8 45.1 357 22 (785)
10 & 1 5| 22.7 417 34.3 1.3 (775)
10 & 5 F| 214 40.9 36.3 14 (719)
10 # 8 £ 19.1 425 37.0 1.4 (724)
10 & 11 ] 26.1 41.2 30.4 2.3 (774)
10 & 12 F| 26.3 42.0 283 3.4 (731)
11 & 17| 276 44.2 24.9 3.3 (812)
11 & 2 ] 29.4 43.1 24.8 27 (926)
11 # 3£ 23.0 39.8 33.3 3.9 (820)

R = T 5 B RS2
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&= DB AFR B 2@ (%)

NEE N NP N R SN HE g P (N)
) E L=
)
10#45] 107 94 39 18 - 24 - 69 593 57 (779
1055 101 122 62 21 - 45 -~ 60 540 50 (715)
106 88 130 101 06 - 36 - 39 565 33 (851
107 91 158 95 08 - 39 - 31 559 17 (891)
108 90 120 62 10 - 29 - 53 604 30 (723
10595 91 111 62 23 - 29 -~ 49 602 33 (769)
10#117] 83 132 51 08 - 36 - 22 6L0 57 (771
10#12/] 92 123 53 11 -~ 23 -~ 33 624 40 (731

117 1%] 71 108 6.7 1.8 1.5 1.0 1.0 3.2 63.4 3.4 (812)
115 25| 8.1 11.1 6.0 1.4 1.0 1.3 0.5 3.2 63.0 4.3  (926)
117 3%| 8.8 8.1 51 1.2 1.0 0.9 0.2 3.7 67.5 3.5 (819)

[HIRE T fords R g A Wy P 2 OB IR > 7 M1 4 ]

R Elif[fl[“ji riﬁ#[ﬁ&'@i_ | PUTEE
%?: : I:IJ}‘FI[IZIII_T rq/}‘ftj_ [%TSJ [{ﬁllgji - F ] F[JA ﬂ o

AN M FOTE 2 s LA (%)

2011 & 3 F|* 2011 & 2 E|**
GEEFRSERR) (AR PHER)
T 29.0 413
ﬂf“} lﬁl 27.4 38.2
T 41.7 16.7
TR, S 1.8 3.8
(B4 HD) (820) (926)

"L < TRICIILR (R 2 PSR S R PO KRR S R
$6000 » 555 1| 2 18 ww (e ] JITRL2 96000 - IR AR N AR
$6000  FFF > CIATEST IEREI TR 2

R e I E rw ML AP = TR ETE - IR SR TR i
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2011 F 3 F[* 2011 & 2 F|**
GEEFTHVERR) (AR IERR)
eSS IR AR AR 52.1 46.9
(545 (812) (902)

# O F ORIV B IFT 1,49 55 o
LE’E TYNPUR A LIRS S R T o SNSRI 0 ST AR S0 100 534l - 50 5 ﬂﬁ
s ¢ F’A,g[pumgﬁﬁaggﬁw 2552

** Fﬁ R < AR SR PSR ETEE (F(ERO3 B0 1) 0 ST - 100 53Ry > 5053 KR A - ey
PP DTRATS TR ETES 253 2

AL DA REAEBITMRIEE SR T] [RRFRLEBITHKREE ,ﬁmi;’?'ﬁ]
[ pag 23 FREF - LPHFTLS 520 BES]
Frojb==*
BT TR E I RIEVR 34.0
e ek e i RS o | 336
VTIPS E ﬁﬁ; 1R EE R 21.0
T R R D 10.5
VT ERARY R3] 6.7
3B S R TR RO 6.3
VUSTPR ~ 28R N E 6.3
Tt G20 PR TR 5.0
7,& o S ETRB L A 29
i’x%ﬁigf*ﬁn (= /g 2.5
TERPTRVER TS AGH] A 2.5
SN - L RN SRRl 2.5
VEHN % 2.1
G 1.3
L N T | T RETR I 1.3
SR liIk i':r%:g 9 [T 0.8
T b A - 0.4
WO T4/ LB E g 0.4
TR SEE R 0.4
AR S 5.5
(B4 E9) (238)

il Jﬁ]%LPFdlfjﬁil'%?Pé”ElﬂiﬂlFGD_FLMI"J“JP 2 (F'f T ﬁ'wail?aﬁs@;ﬁi oo iH )
[ PHE= :ﬂ (F s [Wf 20 lﬁ B T 153 20 100%)
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